
Lafayette Scarf
knitting pattern by Danielle Gallagher

Instructions
CO 4 sts 

Set Up:
Row 1: K1, kfb, k2. 5 sts. 
Row 2: Knit
Row 3: K2, kfb, k3. 6 sts. 
Row 4: Knit
Row 5: K2, kfb, k to end. 7 sts.
Row 6 (WS): K3, p1, k3. 

Increase Section:
Row 1 (RS): K3, M1L, k to end.
Row 2 (WS): K3, p until 3 sts rem, k3. 
Row 3: Knit
Row 4: K3, p until 3 sts rem, k3. 

Repeat these 4 rows until you have 80 sts or have 
used approx ⅔ of the yarn (100g used, 50g left). 

Decrease Section:
Row 1 (RS): K3, k2tog, k to end.
Row 2 (WS): K3, p until 3 sts rem, k3. 

Repeat these 2 rows until 7 sts remain. 

End Section:
Row 1 (RS): K2, k2tog, k to end. 
Row 2 (WS): Knit

Repeat these 2 rows twice more, 4 sts rem. 
BO. Weave in ends and steam block. 
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A light summer scarf/shallow shawl that shows off the pretty 
gradient and shiny bits of the lovely Bloom yarn. 

Abbreviations
CO: cast on
BO: bind off
RS: right side
WS: wrong side
k: knit
p: purl
st(s): stitch(es)
rem: remain(ing)
kfb: knit in front and back of same st, 1 st increased
M1L: insert left needle tip into front of strand of 
yarn btwn sts, knit into the back, 1 st increased
k2tog: knit 2 sts together, 1 st decreased. 

Materials
Lang Bloom, one 150g cake, 475yds.
US 6/4mm needles, 14” straight or circular (or size 
needed to achieve a loose-ish gauge)
Darning needle
Gauge: 22 sts = 4” stockinette 

The scarf increases every 4th row and decreases every 
2nd row, so the increase section is twice as long as 
the decrease section. If you are using a different yarn, 
increase until you have used up almost ⅔ of the yarn, 
use the rest of the yarn for the decrease section. 

Approx length when finished: 68” total length, 14” wide at widest point.


